00000000 (080 2016060 60)

ooogoood

gbooboooon

Prolog 000D 0DO0ODOODODOODDOODODOODDOOOODOOOOOODOOODODO
0/00000000000000O000Uo

0000000000000 000000000000000000Olisting(Predicate) 000
000000000000000000 (Predicate 0000000000
0000000000 halt OO PrologODOOODOOODOOOO

00000 assert O retract

e JODODO assert(C)
cOo0ooOdU0OoooOoUoOoooOoUooooOoooon

e 0O OO asserta(C)
coooopoDoOooDOooooooDoooDoooooo

e 0OODO retract(C)
cOOdbOO0bOoOooOOobOOoO0oOOobDObOOoOobDOobooooogobono

e 000D retractall(H)
HOOODODOOOOOODODOOOODOOOOODOobDoooooboo

00000 Arity O0OO0OO Predicate 000000000 OC0OO0OOODOO 100000000
:- dynamic Predicate/Arity.

0000000000000 O0oO0O00oOoO0o0oUOo/o0o0ooooooOn

0000000 (ooooo)ooooo

?7- listing(fruit).

oooo0O0Ofuit 000000000000 OOOOOCCOOOO0OO0O0OOOOOOOOO
oooobooooo

ooooo

%» 00000 %» 0000

:- dynamic fruit/0. ?- assert(fruit:-orange).
fruit :- apple. ?- retract(fruit:-G).

fruit :- lemon. uo » 000000000DO0O0O00DOOOOD



godad

1. 00000000000000 above D0O0O0O 100 below(pencil,bicycle) 0000 00O
O000 a2b000000000DO0C0O00O00DO0O0O0ODO0OD listingO0DO0OOOOODO
oooobOoooobooboobooobOobooooboobooonoo

above(bicycle,pencil).
above(bird, sandglass) .
above (camera,butterfly) .
above (apple,fish).

2. 0000000000000 above(X,Y)OOOOOOOOOOO below(Y,X) OOOOO
OO0D0O0O00D00O0 abovetobelow OO OUOOOOODOOOOODOOODOOODOOOOO
000000000 listingO0O0ODOOO0ODO

3. 000000000000000000000000 L(OoOOooDoooooooooo)od
00000000000000000000000000000000 contained(L) 00O
0000000000000 Ocontained([apple,bananal) O true O O O Ocontained([orange])
0O false 0000000000000 assert/retract 00 O D

fruit(banana) .
fruit (apple) .
fruit(grape) .

4. 000000000000000000000000 L(O00D0D0D000ooooon)
0000000000000000000000000000000000 contained2(L)
0000000000 000000OO contained2([fruit(apple),veg(carrot)]) O true 0000
contained2([fruit(orange)]) O false 00D OOOO00O0O0O0O0 assert/retract 00 0 D

fruit(banana) .
fruit (apple) .
veg(carrot).
veg(spinach) .
can(spam) .



0000 (r8)

gbogboobobobobooboobooboobo

(1)

XO0YOOOOOODOO right(X,Y) OOOODODOOOOODOODOOOYO XOOOoooO
O left(Y,X) DUOOOOOOOOOOOOODO updatedb OO0O0OO0OOOOOOOOO
O0Oright 000000000000 (D0O0OU0O0)00000O0000OOOOOOOOOOO
googno

right (apple,orange) .
right (lemon,apple) .

gbooobgooogn

left (orange,apple) .
left (apple,lemon) .

gbooobgoooan

parent(X,Y), male(X), female(X) 000 300000000000000000000OO
OOpam O X,YOUOOOOOOOOOOOODODOOOOOOOOODOOOpamOOOOOO
00000000000 delal DODOODODODOOOr1 2000000000000
ooooboooobooon

000000000000 0000000000000000000DO000goods(X,Y)
0000 X0 YOOOUOOOODOOOOOYOOOOOUOOO (new)O0OO (old)0O0O
oooooo

goods (riceball,new) .
goods (lunchbox,new) .
goods (sandwitch,new) .
goods (milk,new) .
goods (yogult,old) .
goods (tea,o0ld) .

0000000 L(00100000000)00000O0oOo00000ooooooOoDoUoooo
000000000000 check(L) 0000000000000 D0 0O Ocheck([sandwitch, milk])
O true O O OO check([riceball,tea]), check([cheese]) O false DOOO0OO0OOOOOOOO
assert/retract 0000000

STRIPSOO0O0O0OOOOO0O0OQOCOCOOOOOOODODOOOOOOOOOOOOOOOd
oobooboooooobooooboooboobooobooobobooboobooboooooon
goooboboooooboboooooboboboboooobobobooooboboooo
goboobooboobooboooooboboooboobooooboboooooboooog

O00ooO0o0ooO0dooooooOo0oooo0ooOoO0oOooOoOooOoooooOn CLo
gboooobooobooobooboobooboobooobooboooDoOo bbooobooooboooon
000o0oooO0U0ooooO0oOooOoo0U0ooD ALOODOOOoooooooooooo

apply_operation(CL,DL,AL) :- cond_ list(CL), del list(DL), add_list(AL).
0 00 cond_list(CL), del list(DL), add list(AL) 0000000000



00 (loor) J0OO0OOUOODO XUOUOODOOOOODO YOUOUOOODOOOOOUOOO
0 climb(X,)Y) OO0 O0O0OCL, DL, AL 00000 [on(X,floor),next_to(X,Y),loadable(Y)],
[on(X,floor),next_to(X,Y)], [on(X,Y)] DO DO OO0

0000o0o0O0oo CL,DL, AL O apply-operation 0 0000000 climb(X,Y) OOOOOO

goooboboo0o11oooboboooboobobooob0obooooob100b0o00oo
gbogobooobobooboobooboobd

(5) DDOO0OO0ODO 2(000000)00D00000000 gotod(DX), passd(DX,RY), reach O
STRIPSOODOO0OO0DODOOODOOODOOOODOOODOOODOO20000000000000
box DOOD0OOOOODOODOOODOODO

e gotod(DX)

O0O0ob00bO0obO0oDbO robot UOODOODODODODO DXOODODODOD

ooogoooo
e passd(DX,RY)

OO000000 DXOOOOOO robot O DXOOODODOOOODDOO RYODOO

ubooaboooogooo

e reach

OO000D00OO0O rrobot 0 OOODOOO boxOOOODOOOODOODOOOODODO

(6) OO0 7500000000000

gooboDbD1
on(c3po, floor)
on(r2d2, floor)
loadable(steelbox)
next_to(c3po, steelbox)
next_to(r2d2, door)

googo 2
inroom(robot, rooml)

inroom(box, room?2)
status(door, open)
connect(door,rooml, room2)

connect(door, room2, rooml)

g
loadable(X): X O0O0O0OOOOOOOOOOOO
on(X,Y): XO YOOOOO
nextto(X,Y): X0 Y OODOD (DOOODO)

inroom(X,RX): X 00O RXOODOOO
connect(D,RX,RY): 00 DOODO

00 RXUODOO RYOouoooooo
status(D,S): OO DO SOO0OOOO
nextto(X,Y): X0 Y OOODOO (DOODOO)



